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2) (@a+b)4b+c)—(a+bYb+c)?

(3) dx(x—4)—34—x)

(4) 4x(x—5y)—2y5y—2x)

KOFHHE  <bb>
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56 EHHE (5 /50
*
RONEFBOERL X, 6 Hx4)
(1) x*—625 (2) 10000a*—b*
(3) x2—10x+25— y? (4) 4a%—9b2+42b—49
*
RORXEERBDERLURXV, (12 &64 QU4 &7TH)
(1) (a+2b)2—(a+2b)—6 2) (x—1)2—10(x—1)+25
(3) ac+bc+ad+bd 4) ax—bx+ay—by+az—bz

<56> KOFHH




57 EHNE 6 /50

* %
ROREFBHELZI, (12 &155 3 205
(1) x*—625y"

2 a'—17a%+16

(3) x24+2xy+ y2—13x—13y+ 42

KOFHHE  <57>
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58 R#HME (7)

/50

*k
ROR% REARELU LRIV, (25 Hx2)
(1) (x®46x)°+2x°+12x—63

(2) x®4+y*—2242xy+4z—4

<58> HKOFHH




59 EHSE (8 /50
LS. 0. ¢

RONEFBARELLI V. (12 £105 34 & 155
(1) 3(x*—4)*—15x*+60

(2) (@a—b)*—4dax+4bx+ 4x?

(3) x2—yi4+2y—1

(4) x%—2x— y2+2y

KOFHHE  <59>
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60 MRMEZECHADFHE (1)

/50

*
(78] RO%%E ayb ORERLEI, 2720, bIETEBRPAIVERRE TSI L, 65x5)

(1) 8 2 98
3) VA0 (4) —Ja8
(5) /32

*
ROFEZ LIV, (D2 &64 384

(1) /35 x/14 2 /12 x/18
(3) /20 +./500

<60> IR




61 MEEALROHE (2 /50
* *
ROEEE L, ERE Ja DFITRURI, (64X5
(1) V6 xJ7 2 075 x /24
8 3T w T
53
5 2

*
ROBDHFEFEL LRIV, (4 5X5)

1 -2 2 —=
T 14
7 3
3) —— _9
® 57 W 57
11
v

R <61>
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62 MHWEESLRAOHE () /50
ROFHEZE LRI, (4 Hx6)
(1) 342 +542 (2) 43 +53 =7J3
3) 11J/11 —4/11 —7/1T (4) 33 +22 —/3+52
(5) 245 +3/2 —(=/5)=5/2 6) 37T =27 =52 +JT+72

*
ROFHEEZ LRIV, (D~1) &4H 66 &5 5

(1) (T+/3)* 2 (35 —1)7
(3) (=+/3 —=+/5)? @ V3+1/3 -4
5) (VIO —y/2)(/10 +./2) 6) (33 +2)(/3—49)

<62> IR
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63 IRELSLXDHE 4 /50
ROFHEE LRI, (D~6) &65 18 &7

1) Jm2PX3 +2T — 155 @ m—%+@

2 6.6 3 4/6

£ 4 ./98 —./50 + S ~_
(3) ﬂ+d_ V50 + NG (4) ﬁ<m+1>+ N 6

348 242 V5

® WT+V6+)(WT7-V6-1)

R <63>
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64 WEZECHDEHE (5

/50

* k k

ROFFEZ LRIV, EEL, 2BeEELTERRIW,

V14 —4
(1) V7432 - 7

2) Jﬁ—dﬂﬁ—m—%

5 ﬁ(ﬁ+2)_2+m+m
Y E

URNREN N BNO R

<64> IR

(12 £107 Q4 &15:)
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* %k
ROFEZ LIV, (U2 &£105 34 £15H)
() @+V3)—2-v3)"

2 (VZ+VB+VE)P— (2 —B+/5)

B WT+V6+DWT -V6-1)

4 (V5 =2(T+4/3)2+/5)(=7+43)

R <65>
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*
RD 2 RABAEMILRI N, (D)~6) £55 (7B & 105)

(1) x*—5x—36=0 (2) 2x2—x—15=0
(3) x2—14x+49=0 (4) 4x°+20x+25=0
(5) 3x2=27 6) 5xi—a=0

(7) (x+3)*—36=0 8) 2x+62—16=0

<66> 2k FTRI
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*
RD 2RFABREMBIRIV, (D~ &8H (5)6) £IH)
(1) 3x24+9x+1=0 (2) x2—=3x—1=0
(3) 2x2—5x—2=0 (4) 3x%+6x+2=0
(5) 3x*+x—4=0 6) 4x2—5x—9=0

2RTTRE <67>
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68 2XARKXDEEH 3)

/50

*
RD2RFABREEE I, (12 &1258 94 £135)
(1) 2(x*4x)—5x=1

@) (2x+3)(2x—3)=x2x+3)+11

(4) 0.4x°+28x+4.9=0

<68> 2kFTR




69 2RABAOMES (4) /50

* %
RD 2RFEBRERIRIV, (D~10) &4 (1112 &5H)

(1) 4x2=196 (2) t2—3t—28=0

(3) 5x2434x—7=0 (4) 3x%2—18x+24=0

(5) x*+4+36=—12x 6) (3p+1)2=9

() —x%4+5x—2=0 (8) a?+6a—3=0

9 2x2—10x—25=0 (10) (x+6)(x—6)=>5x

(11) x(4x+3)+3=x2—3x (12) 5(x+3)x—1)=3(x2-3)

2R TITREE <69>
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70 2RAEXDHEEH (5)
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*ok
RD 2 RARAEMILI N, (12 &108 @) £15H)

1, 1 1

@ x—;lZ _<x;2>2=1

(3) 0.5x¢2—1.5x)—0.25(x—1)=0.25x—1

@) 3(x++5)—=2x+4/5)—1=0

<70> 2tk R




71 2RAHBADMER (6) Ve
* %k
RD 2RAEREMBEZLIV, (10 Hx5)
(1) (x=1)(3x4+5)=—2x4x—1) (2) 2x+172=3(x—1)
g D ey @ = 10x=3=5(gr+5)

(5) 22—0.125x—0.25=0

2RTTRE <T1>



T

/50

72 2XRARBRKOBEEAH ()

RD2RFEBREREILIV, (D2 £105 (34) & 155
(1) 2(x—2?2—13(x—2)+6=0

2) 2x—4/3)2=7=0

(3) x*—16x2+63=0

(4) (x*—5x)?—2(x*—5x)—24=0

<T12> 2k R






